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Question No. 1

Simplify: \/1‘?6 + 2401

A)

14

18

WA HT: 176 + /2401

A) B)

14 25

0 D)



18 15

Answer Key : D Your Response : B (Wrong)

Question No. 2

Which of the following can cause damage to buildings?
A) Infrasound B) Sound at about 10kHz

C) Shock waves produced by supersonic D) Subsonic sound
aircraft

ffef@d # ¥ @l a1 ARG F1 JHEE TgaT Wl 57

A) 379%cyg eafar B) ST 10kHz drell €afey
C) gwEash faaT= & 3cueal 3MErd aial D) Healf-dh eafer
Answer Key : C Your Response : A (Wrong)

Question No. 3

The disease caused by deficiency of protein in children is called-
A) Pellagra B) Beri-Beri

C) Kwashiorkor D) Rickets

Tt 7 NET fr FAT T @ arelr AN A FAT FgT AT 82

INBREEIC B) s{I-adr
C) FarfAARER D) RercH
Answer Key : C Your Response : A (Wrong)

Question No. 4

Which word will best complete the relationship given below?



Volume : Litre :: Length : ?
A) Hectare B) Kilogram

C) Metre D) Watt

FleT T eq S AT 7T Heer it wafeasr o1 @ qob wam?

A : el oS L ?

A) gFCIX B) fehaiammeT
C) #Hiex D) are
Answer Key : C Your Response : C (Correct)

Question No. 5

f8#2@5=21and4#6 @ 2 = 26, then what will be 3 #7 @ 9?
A) 40 B) 47

C) 52 D) 30

A8 H2@5=213RA4#6@2=268% A3 #7 @9 T a=?

A) 40 B) 47
C) 52 D) 30
Answer Key : D Your Response : D (Correct)

Question No. 6

The total of ages of X, Y and Z is 27. X is 2 years older than Y and Y is twice as old as Z. What
is the age of Y?

A) 5 B) 8

C) 12 D) 10



X YRz garAr27g X, YE2aaer g AR Y f 3mg, Z & AR 51 Y Hr 3y
AT FfST|

A) 5 B) 8
C) 12 D) 10
Answer Key : D Your Response : B (Wrong)

Question No. 7

is the physical quantity of the substance which is numerically equal to the resistance of a
rod of that substance which is 1 m long and 1 sq m in cross-section.

A) Charge B) Conductance

C) Resistivity D) Resistance

gy fr siifas T § S TEarcHs §T & 36 g O § 1 Hiex d« 3R 1 Tef A
ITEY FIC T Th B35 & Gy & & el gl

A) 3Taer B) dTelehdr
C) wfaRIerehdr D) ufaier
Answer Key : C Your Response : C (Correct)

Question No. 8
If tan 2A = cot(A-18°) and 2A is an acute angle, then find 'A'.
A) 24° B) 36°

C) 28° D) 18°

Ifg tan 2A = cot (A-18 °) § 3R 2A s =g F0T §, & ‘A" & AW AT ATl

A) 24° B) 36°
C) 28° D) 18°
Answer Key : B Your Response : B (Correct)

Question No. 9




Choose the figure that best represents the relationship among the
classes given below.
Pharmacists, Professionals, Architects, Carpenters

Answer Key : C Your Response : D (Wrong)

Question No. 10

If the perimeter of a triangle is 28 cm and its inradius is 3.5 cm, what is its area?

A) 35cm? B) 42 cm?



C) 49 cm? D) 28 cm?

Ife el st &1 aRAT 28 QT &1 sHHT e:Fsr 3.5 AN §1 sHH SABa AT AT

A) 35 @q#r? B) 42 a#r?
C) 49 a#rP? D) 28 &2
Answer Key : C Your Response : A (Wr

Question No. 11

Find the missing number in the following series.

110, 99, 86, (...), 54, 35

A) 67 B) 81
C) 71 D) 75
fArfaf@d 4ot & o ¥&ar Aa Afew|

110, 99, 86, (..), 54, 35

A) 67 B) 81
C) 7 D) 75
Answer Key : C Your Response : C (Correct)

Question No. 12

What is the resultant resistance if 2 Q resistors are connected in parallel?
A) 0.5Q B) 1Q

C) 30 D) 20

2 0 & YR I FAR A # 3 §U &, ar IRomr gfody = gem?

A) 05 Q B) 1Q



C) 3 Q D) 2 Q

Answer Key : B Your Response : B (Correct)

Question No. 13

Perimeter of an isosceles triangle is 32 cm. The base is 6/5 times the equal side. What is the

area?
A) 39 cm? B) 57 cm?
C) 48 cm? D) 64 cm?

UF FAGHAETg e 1 IRAT 32 Flr §1 SHST HUR, FAR ST 1 6/5 AT §1 &AHA AT
ffaTl

A) 39 TH? B) 57 THI2
C) 48 42 D) 64 J&H?
Answer Key : C Your Response : C (Correct)

Question No. 14

What is the nature of bleaching powder?

A) Reducing agent B) Blistering agent
C) Sulphonating agent D) Oxidising agent
sAfRAT T3St $r yFa =T 87
A) qarIE JfHbAS B) Wil 3ifea® (Blistering agent)
C) ToewhlATed AfAhaih D) 3ifgdiieRe® 3ffras
Answer Key : D Your Response : A (Wrong)

Question No. 15

Which word will best complete the relationship given below?

Charminar : India :: Pyramid : ?
A) Vatican B) Egypt

C) Canada D) England



FleT T eq Y AT T Heer it wafeasr dor @ qob Hm?

IRHANGR ; $Rd = Az : 2

A) afeswha B) fAa
C) arsT D) g9l
Answer Key : B Your Response : B (Correct)

Question No. 16

Which of the following Ministries won the platinum of Web Ratna Award in Digital India Awards
20187

A) Ministry of Youth Affairs and Sports B) Ministry of Corporate Affairs

C) Ministry of  Communications and D) Ministry of Micro, Small and Medium
Information Technology Enterprises

farfaf@a 7 ¥ g daro o Bfoes 3Bar s@Ey 2018 # a9 & 34O # wiftad f@aw
Siiar?

A) el Td FaT HATe B) &MHRe ATFGT H1 HIATT
C) HUR Ud T GleIfarehl Hrerd D) §&H, oY Td HLIH 3¢TH HATL
Answer Key : D Your Response : Not Answered

Question No. 17

From a point 'P', Rohit walks for 5 km towards east direction. He then turns right and walks for 2
km. Again he turns right and walks for 3 km; He then again turns right and walks for 2 km to
reach a point 'Q". What is the distance between the points 'P' and 'Q"?

A) 3 km B) 4km

C) 1km D) 2 km

e v g 'P' @ qa farm #r 3K 5 el =ercr &1 a8 T QW Fgar & 3R 2 fFer Torer g
R § a8 a8 3R Far § 3R 3 Bl Foar B, 9% AR & o AR gg 2 el goar § 3R
v fdg 'Q' W agaar §1 &g P 3R 'Q' & o A glr el 2

A) 3 e B) 4 el



C) 1 fel D) 2 fafr

Answer Key : D Your Response : D (Correct)

Question No. 18

P and Q enter into a partnership with investments of Rs.1400 and Rs.1800 respectively. They
share half of the profit equally for running the business and the remaining profit in the ratio of
their investments. If the difference in their shares of profits is Rs.47, what is the total profit?

A) Rs.954 B) Rs.504

C) Rs.804 D) Rs.752

P 3k Q H#Ar: %.1400 31X %.1800 F @AY & WY UH HEGHT F YA FHId &1 &9 & 3T
R F swea F Fues & AT @ § 3 A BEY F A A9, F 3w F §fe o §
I a7 # 3% Xt A1 IR .47 8, AN FoI @ AT A

A) %.954 B) %.504
C) %.804 D) %.752
Answer Key : D Your Response: Not Answered

Question No. 19

Simplify: tan (60° - 6) - cot (30° + 8)

A) B)

&l -
&

O] D)



T FI: tan (60° - 6) - cot (30° + 6)

A) B)
1 2+./3
Y3+ *
Nz NG
0 D)
0 2./3
Answer Key : C Your Response : C(Correct)

Question No. 20

Which of the following is a saturated hydrocarbon?

A) Methane B) Propylene
C) Butadiene D) Acetylene
Prafafa & & # &1 o asREE &7
A) A B) WIdellet
C) sgersis D) ufafeels
Answer Key : A Your Response : A (Correct)

Question No. 21

Find the ODD one out from the given options.

A) Odissi B) Bharatanatyam

C) Lavani D) Kuchipudi



T v RFedt & ¥ 3raraT @ oAl

A) 3fsdr B) RdAcIH
C) wraufr D) st
9 9
Answer Key : C Your Response : C (Correct)

Question No. 22

The main function of vitamin K is in-

A) Skin health B) Blood clotting

C) Immune system D) Calcium absorption

farfae K =1 787 & ¥ Heft @ &l

A) cIdl H TGEY TG B) Tl & SiHel

C) YfaRET YuTrelr D) foRIFA 3FHARNYUT
Answer Key : B Your Response : B (Correct)

Question No. 23
If 2508 + 12.54 + (X x 11) = 200, then find the value of 'X'.
A) 2.5 B) 3.5

C) 4 D) 0

Ify 2508 + 12.54 +(X x 11) = 200 ¥, & X' & A 7 DT

A) 25 B) 3.5
C) 4 D) O
Answer Key : D Your Response : D (Correct)

Question No. 24

A man walks from P to Q at the rate of 5 km/h and returns from Q to P at 3 km/h. What is his
average speed for the whole journey?

A) 3.25 km/h B) 3.75 km/h

C) 3.5km/h D) 8 km/h



HE Y P & Q dF 5 freliyeer it arer § T ST § AR Q ¥ P aF 3 frefivder fr o &
A9H AT g1 T AEr F SR 3wh e T R g

A) 3.25 fw#l/aer B) 3.75 farsl/der
C) 3.5 fraiger D) 8 ferail/ger
Answer Key : B Your Response : B (Correct)

Question No. 25

Which number will best complete the relationship given below?

6:36::8:7?
A) 47 B) 46
C) 48 D) 49

FleT W FE&AT M Ru 71w Fefer w°r Fafeaer do1 F 7 Wi?

6:3 :8:7
A) 47 B) 46
C) 48 D) 49
Answer Key : C Your Response : C (Correct)

Question No. 26

Find the wrong number in the following series.

9, 15, 24, 34, 51, 69
A) 51 B) 34

C) 24 D) 15



fAeafaf@a Aol & srera d@ear #r g+

9, 15, 24, 34, 51, 69

A) 51 B) 34
C) 24 D) 15
Answer Key : B Your Response : B (Correct)

Question No. 27

Which constellation has other names as The big dipper, Great bear and Saptarishi?
A) Orion B) Scorpio

C) Ursa Major D) Ursa minor

fFH dRASA & 3T aF 9o Rw, I fzw 3N gwai¥ &2

A) I B) giRT
C) gdi¥#Hse D) =&l
Answer Key : C Your Response : C (Correct)

Question No. 28

is the matter or substance through which sound is transmitted.

A) Interface B) Medium

C) Environment D) Surrounding

9% gog A1 9ary §, oS Areww ¥ eafe daiia @ §

A) FIHH B) HATETH
C) drdraxor D) gRawr
Answer Key : B Your Response : B (Correct)

Question No. 29

If 'MISTAKE' is coded as 9765412 and 'NAKED' is coded as 84123, how is 'INTIMATE' coded?



A) 89786145 B) 78579452

C) 79438163 D) 78698365

I 'MISTAKE' & 9765412 & 7 # for@r amar € 3 'NAKED' & 84123 & &7 & for@r Siar
g, @ INTIMATE' & 59 YR fo@r sem?

A) 89786145 B) 78579452
C) 79438163 D) 78698365
Answer Key : B Your Response : B (Correct)

Question No. 30

If 410 = 3.16, then find the value of 30
\‘ 9

A) B)

3/16 1/8

0 D)

1/4 1/16

— +
Iie./10 =3.16, ar /? FT JTT 7T FI

A) B)



3/16 1/8

O] D)

1/4 1/16

Answer Key : This Question is dropped and
. . . . Your Response : Not Answered
will not be consider during the evaluation

Question No. 31

In which of the following Indian states is Dal Lake situated?
A) Jammu and Kashmir B) Himachal Pradesh

C) Uttar Pradesh D) Gujarat

‘s i’ ARA & AT & ¥ v T &7 e 82

A) I TT FEHR B) faTaer Uger
C) 3cal Ueer D) eRId
Answer Key : A Your Response : A (Correct)

Question No. 32
Two numbers are in the ratio 3 : 5. Their LCM is 75. What is their HCF?
A) 15 B) 5

C) 4 D) 3

ar €€ 3 : 5 & I H §| 39 S99 (LCM) 75 §| 3919 A.E.T (HCF) dra Hhifsrel
A) 15 B) 5

C) 4 D) 3



Answer Key : B Your Response : B (Correct)

Question No. 33

How many squares are there in the given figure?

A) B)

16

20

0 D)



11

]
W] §

Answer Key : B Your Response : A (Wrong)

Question No. 34

Two right circular cones of height 16.4 cm and 17.2 cm respectively have base radius of 8.4 cm.
These two cones are melted and recast into a sphere. Find the diameter of the sphere.

A) 16.8 cm B) 8.4cm

C) 8.2cm D) 8.6 cm

AT 16.4 A 3R 17.2 J#r S a1t & SEgecdy 0, Faehr 3R BAsar 8.4 Qe @1 oo
arir w3t Fr Reemrar Srar ¥ AR vE A F TG 7 e ST g1 Mo WA AT A

A) 16.8 TaT B) 8.4 @Hr
C) 8.2 & D) 8.6 G
Answer Key : A Your Response : Not Answered

Question No. 35

The mass number of deuterium is-

A) 3 B) 2
C) 1 D) 4
s & goaAe weEr fhaer &2
A) 3 B) 2
C) 1 D) 4
Answer Key : B Your Response : B (Correct)

Question No. 36

Which of the following is NOT a multi-seeded fruit?

A) Papaya B) Litchi



C) Apple D) Pomegranate

P # & Fla @ ag-deh wa 78 82

A) qdrar B) el
C) &« D) 3R
Answer Key : B Your Response : B (Correct)

Question No. 37

Read the following information carefully and answer the question given below.

Eight friends—P, Q, R, S, T, U, V and W are sitting around a circular table facing the center but
not necessarily in the same order. Each one of them wears different colours of shirts—blue,
green, red, black, yellow, white, purple and pink.

P sits third to the right of the one who wears pink, and only two people sit between the one who
wears pink and W. Those who wear yellow and green are the immediate neighbours. Neither P
nor W wears yellow or green. The one who wears yellow is not an immediate neighbour of the
one who wears pink. The one who wears blue sits second to the left of T. T is not an immediate
neighbour of W. The one who wears blue is an immediate neighbour of both those who wear
white and purple. The one who wears purple sits third to the right of Q. Q does not wear yellow.
R sits to the immediate right of the one who wears red. P does not wear red. U is not an
immediate neighbour of P. V is not an immediate neighbour of the one who wears blue.

The person who wears sits exactly between those who wear pink and white.
A) Yellow B) Red
C) Blue D) Green

PTaf@d SsRT # e ¥ 93 3R i e v ma &7 3R &I

WG - P, QR S, T, U, VIR W tF g A5 & arT 3R &g 67 3R 5 =& 8 §
AfheT ST oTel fF O 8 A & gfl o7 & UAF 39-31e19T, G- Aier, §;, T, relr, e,
|ihg, 49l R IEE, Tr Ay A€ F g § | P, IR AE TgA §U AT F ¥ AN AW



WWW%,WWQ%W?WWW*WWETW%?IGI’TFﬂ?thIT»T
AR E T fr A 9@ §, T g & Apeam gl §1 T ar P 3R & W dier Ir &Y T
aé e 1 R T B el B, 7 T aE U ARt & e o il ¥ v
el o Tgel § 9F T & 1§ IR g VI W doT §1 T, W T ereaer wehd @ #1 S
e o€ ugel &, a8 A¥he 3R Jorhr A TEeA arer Qe F HFeaw TR ¥ S e o
Tl ¥ 98 Q F o 3 AW I | dor ¥ Q F e qE F7EF gl ¥ R, T A€ GgeA
el afFd & I 91T & YT 81 P of &1 A€ sigf Ugelr ¢l U, P & fAsheasr skt = T 81 V
el ¢ Ugaer arer FT feedd TSRl SET #

SwafFaa__ o ggell §, 98 et AR Aihg A Yoo arel safaadt & 8 &
ot gl
A) drer B) el
C) drerm D) &
Answer Key : B Your Response : Not Answered

Question No. 38

Functional group —CHO is present in which of the following?
A) Ketone B) Aldehyde

C) Alcohol D) Carboxylic acid

FRcHF TAg -CHO fwifaf@a 7 & fruet slsg gar 872

A) @rersT B) ufesgrss
C) Ucalgd D) wreffeafes 3Fd
Answer Key : B Your Response : Not Answered

Question No. 39

Which of these is NOT a bone in the human body?
A) Anvil B) Hammer

C) Stirrup D) Axe



farfaf@a & ¥ Fla A A WX #F 9 N Jrel g3 78 82

A) tfeger B) §F
C) ey D) uad
Answer Key : D Your Response : Not Answered

Question No. 40

A homogeneous mixture of two or more substances is known as the-

A) Solution B) Fission

C) Colloids D) Suspension

& a1 3fs uerdt & ve Fed AT @ el Slell ¢

A) e B) fa@ssi(Fission)

C) Flcss D) forelssl (Suspension)
Answer Key : A Your Response : A (Correct)

Question No. 41

The angle of elevation of a hot-air balloon climbing vertically changes from 30° at 10:00 AM to
60° at 10:02 AM as observed from a point 300 m away from the take-off point. What is the
upward speed of the balloon?

A) 3.4 m/s B) 2m/s

C) 2.18 m/s D) 29 m/s

33 g @ 300 AT i g ¥ AW I W Fed 2w 7 3R f W M @ F T O F
eI T Sewidel HIOT TIc: 10:00 &, 30° W FEeh WIe: 10:02 For 60° & e &1 Fe =
# AN I Tl AT HITAT

A) 3.4 #Hrey/aes B) 2 #Hiey/Aa%hs
C) 2.18 Hey/d®s D) 2.9 Hiey/ahs
Answer Key : D Your Response : Not Answered

Question No. 42

Breaking of silver bromide into silver and bromine is an example of



A) Combination reaction B) Redox reaction

C) Decomposition reaction D) Neutralisation reaction

e siass a1 e AR sl & geanr & T 3STEOT gl

A) TdrerT fRfeRar B) 3rTudigay fAfhar

C) 39gesT fAfeRar D) 3crefisienor 3iffsar
Answer Key : C Your Response : C (Correct)

Question No. 43

0.04 x 0.0123 is equivalent to

A) 492 x 10 B).4.92 x 10°®
C) 4.92 x 10° D) 492 x 103
0.04 x 0.0123, % WA gl
A) 492 x 10 B) 4.92 x.106
C) 4.92 x 104 D) 492 x 105
Answer Key : C Your Response : D (Wrong)

Question No. 44

Noise pollution is measured in-
A) Ohm B) Decibel

C) Joule D) Ampere

eafer yguoT # AT ST g

A) 3 B) s
C) et D) TiFmR
Answer Key : B Your Response : B (Correct)

Question No. 45




Which of these creatures do NOT have teeth?

A) Turtles B) Pigs
C) Dogs D) Horses
g ¥ fFE S & gid 8t i &2
A) FPU & B) IR &
C) T F D) €13 &
Answer Key : A Your Response : A (Correct)

Question No. 46

An opthalmologist is one who treats-

A) Skin B) Bones
C) Eyes D) Limbs
Jidenlaifore fFaesr 3TaR Far 82
A) cadT @t B) gsfeal &r
C) @i &r D) ‘33T hr
Answer Key : C Your Response : B (Wrong)

Question No. 47

One morning after sunrise, Kumar was standing in a ground facing a pole. The shadow of the
pole fell exactly to his right. Which direction was he facing?

A) South B) West

C) East D) Data inadequate

Yalea & a6 U gag, FAR U AT & v Gl i 3R Hg R @or anl A A SR 38
8% gifest WE I3 ¥ IF hw fewm v 3R Hey Ay go am

A) gigror B) ufas
C) ga D) 3er 39ared

Answer Key : A Your Response : A (Correct)



Question No. 48

Arrange the following fractions in descending order.
5/6, 3/7, 8/9, 3/14

A) 5/6, 8/9, 3/7, 3/14 B) 8/9, 5/6, 3/7, 3/14

C) 3/7, 8/9, 5/6, 3/14 D) 8/9, 3/14, 3/7, 5/6

Aafaf@a et #F e FF 7 gafeya e

5/6, 3/7, 8/9, 3/14

A) 5/6, 8/9, 3/7, 3/14 B) 8/9, 5/6, 3/7, 3/14
C) 3/7, 8/9, 5/6, 3/14 D) 8/9, 3/14, 3/7, 5/6
Answer Key : B Your Response : Not Answered

Question No. 49

What is the common name of gases and liquids?

A) Fluids B) Gel
C) Resin D) «Chemicals
3t 3R gaEt @ W A T g
A) &g B) e
C) Ta (&) D) &g
Answer Key : A Your Response : A (Correct)

Question No. 50

In which district of Jharkhand is Tagore Hill located?

A) Lohardaga B) Simdega
C) Gumla D) Ranchi
IR T SIREE F e R ¥ Rua &7

A) olggan B) f@sem



C) I D) =Y

Answer Key : D Your Response : Not Answered

Question No. 51

Choose from the alternatives the figure that best completes the

pattern given below.

Q|0
)

A) B)

0 D)

S O

few 1w Rwedl # & 58 T g, I A9 e v ST g W
gl

Q|0

A) B)




0 D)

S O

Answer Key : C Your Response : C (Correct)

Question No. 52

What is 'Halitosis' commonly known as?
A) Head ache B) Blood Pressure

C) Bad breath D) Flu

@y #I 3mHAAR W BB e F ST Srar 82

A) fReg B) I&d @Y
C) |/ &I gty D) %ol
Answer Key : C Your Response : Not Answered

Question No. 53

Village Chimur is 20 km to the north of village Rewa. Village Rahate is 18 km to the east of

village Rewa. Village Angne is 12 km to the west of Chimur. If Sanjay starts from village Rahate

and goes to village Angne, in which direction is he from his starting point?
A) Northwest B) South

C) North D) Southeast

o g, o Jar F e 7 20 B Ay gfr W B T e, aw far F qd 7 18 el
gl W Bl I 3, RAT & e 7 12 Rl @ g W 81 IR do T I Wer & Tt Ow

X AA 33 T ST §, o 96 9= Yo foig F fhar foom # g2

A) 3caR 9ieTH B) g&figror
C) 3R D) cfaror qd
Answer Key : A Your Response : A (Correct)

Question No. 54




Himawari-9 is a Japanese satellite.

A) Weather B) Communication
C) Navigation D) Ground
fRAEd-9 v e 399% &
A) #tEH B) #R
C) Afaarer= D) #Hifas
Answer Key : A Your Response : Not Answered

Question No. 55
Which of the following does NOT belong to the plant kihngdom?
A) Fungus B) Bush

C) Shrub D) Tree

RAfafRa & ¥ Fi9 ar uey e & de9fa 6 82

A) The B) ss-s1wrs
C) st D) 9%
Answer Key : A Your Response : A (Correct)

Question No. 56

Which of the following is the process of splitting up of the heavy nucleus of a radioactive atom
into smaller nuclei when bombarded with low energy neutrons?

A) Nuclear destruction B) Nuclear fusion

C) Nuclear generation D) Nuclear fission

fet & @ il @ T Fo o Jgial F THER T WA ] & el i @ e
et & Asnfera T v afrar &7

A) ATfRRT @sT B) SIAhIT Heldel
C) A& 3curest D) aifffra fawsa

Answer Key : D Your Response : D (Correct)



Question No. 57

Which of the following Articles deals with 'Prohibition of traffic in human beings and forced
labour'?

A) Article 29 B) Article 27

C) Atrticle 30 D) Article 23

frafaf@a ¥ & Fi A1 Igede AT F AR T qeresH & gfavy ¥ et 87

A) e 29 B) 3o 27
C) 3=t 30 D) 3fJ=oq 23
Answer Key : D Your Response : Not Answered

Question No. 58

The sum of the atomic masses of all the atoms in a molecule of the substance is-
A) Formula mass B) Mole

C) Atomic mass D) Molecular mass

9er & Toh U] H Al Felt WABN & WHA] SeFAEN F AT Y FAT Fgl ST ¢?

A) T gegHATE B) Hrel
C) WA ZedHTed D) 3MUgeh gegATT
Answer Key : D Your Response : D (Correct)

Question No. 59

What should be the minimum age to get the Rajya Sabha membership?
A) 25 years B) 35 years

C) 18 years D) 30 years

TSIHAT T FGHICT I & AT FgAqH I 1 gelr afge?
A) 25 ¥ B) 35 a¥
C) 18 a¥ D) 30 ay



Answer Key : D Your Response : B (Wrong)

Question No. 60

Which of the following banks became the third largest Bank in India in April 20197
A) HDFC Bank B) Axis Bank

C) Bank of Baroda D) SBI Bank

RAfaf@d & @ i ar dF e 2019 F ARG FT IRRT G 997 dF a7 1 A?

A) HDFC &% B) tfFad d%
C) d% 3% ssler D) SBI s&
Answer Key : C Your Response : Not Answered

Question No. 61

Which of the following options will best complete the relationship given below?

19(413)22
11(431)32
42(?77)12
A) 541 B) 514
C) 145 D) 154

frfaf@a & @ il @1 Aeed A faw 7w deer A Fafcawm o1 @ qor Hem?

19(413)22
11(431)32

42(227)12

A) 541 B) 514



C) 145 D) 154

Answer Key : A Your Response : Not Answered

Question No. 62

Who is India's first woman grandmaster in chess?
A) Saheli Dhar B) Bhagyashree Thipsay

C) R. Khadilkar D) S. Vijayalakshmi

AT & T H ARG FT ggelr Afger AR FiT 272

A) Tgell &R B) #EgAT e
C) R. @fgaaw D) S. ASTergsT
Answer Key : D Your Response : Not Answered

Question No. 63

The population of a city has been increasing at 5% every year. The present population is
185220. What was its population 3 years back?

A) 160000 B) 180500

C) 180000 D) 178000

T A A SAaEar 9fa a¥ 5% #r e & § W g1 IaA Saear 185220 g1 3 a¥ ugar
sHHT FTHEr fohder A7

A) 160000 B) 180500
C) 180000 D) 178000
Answer Key : A Your Response : Not Answered

Question No. 64

P alone can do a job in 18 days. P and Q working together can do it in 15 days. They started to
work together. After 10 days Q left, and P alone has to complete the job. In how many more
days can P complete the job?

A) 8 days B) 5 days

C) 7 days D) 6 days



P 3m%hel T 1 H 18 Rt 7 U &N FHham g1 P AN Q T T FF A §U W 15 et #
QT F el 81 370l U W FE FE0 YE fFarl 10 & F a5 Q o w7 85 w7, 3k P
F 3P 3 FA F G FET E] P F AT FE QU A H frcder e e@em?

A) 8 feoT B) 5 feet
C) 7 fe= D) 6 fea
Answer Key : D Your Response : D (Correct)

Question No. 65

Find the ODD one out from the given options.

A) 8:25 B) 15:46
C) 12:39 D) 9.:28
R e Reost 3 ¥ I B G|
A) 8 :25 B) 15: 46
C) 12 : 39 D) 9: 28
Answer Key : C Your Response : C (Correct)

Question No. 66

Read the following information carefully and answer the question given below.

Five friends Arun, Bala, Cheenu, Dinesh and Elango are sitting on a bench facing north. Arun is
sitting next to Bala. Dinesh is sitting next to Cheenu. Dinesh is not sitting with Elango. Elango is
on the left end of the bench. Cheenu is on the second position from the right. Arun sits to the
right of Bala.

What is the position of Dinesh?
A) Extreme right B) Third from right

C) Extreme left D) Second from left

ffaf@a SR #F & @ ¢ 3R i e a1 wee &1 3R &



9T SR 3RPUT, &, Hie], feEer R goR 3o A IR HE FF UH §F W &S § 30T, arer
% W H o7 g e, o] & sarer F a1 g1 &oier, ool & Ay Gt ST §1 Telal, S & 9MC¢
faY oX o1 B1 e, a¥ & qEY T R AT 1 3107, &1l & g AW Fa7 B

fearer gl dor 82

A) @8 3R Sarel H B) & 3R ¥ R TUH W

C) a8 3R 9Tl H D) &1$ 3R § g& §IH T
Answer Key : A Your Response : A (Correct)

Question No. 67

Which Indian cricket ground hosted the first ever Test match in India?
A) Eden Gardens B) Feroz Shah Kotla

C) Bombay Gymkhana D) Chepauk Stadium

AR 7 Ygol ¢¥C AT 7 3G FT AR ohehe A X fhar ar—m ar?

A) s34 IMSH B) RISt g @lear
C) dire foF@mEr D) duieh wf3ad
Answer Key : C Your Response : Not Answered

Question No. 68

If '+' means '+, '-' means '+', '+' means 'xX' and 'x' means '-',then 32 +4-8x4 +3=7?
A) 5 B) 6
C) 7 D) 4

g H H AT '+' §, " FIHAdAT '+ §, "+ F AdAT X § IR X FI Addd ' &, o 32 + 4
-8x4+3=7

A) 5 B) 6



C) 7 D) 4

Answer Key : D Your Response : D (Correct)

Question No. 69

With which sport is the term 'silly point' associated?
A) Cricket B) Hockey

C) Football D) Badminton

el 95T Aeg TR A ¥ HafeT &7

A) e B) &l
C) Pedle D) dsfdce
Answer Key : A Your Response : Not Answered

Question No. 70

A gain of 12% is got by selling an article for Rs.3360. What should be the selling price, if the
profit aimed is only 8%?

A) Rs.3020 B) Rs.3240

C) Rs.3040 D) Rs.3200

Rl ag #r ©.3360 F ST W 12% F oS WST @ar ¢ IR FaT 8% Fr awer wea fwar
ST &Y, o fasha e fraer gler anfew?

A) %.3020 B) ¥.3240
C) 2.3040 D) %.3200
Answer Key : B Your Response : B (Correct)

Question No. 71

Buses come out of a bus terminus in intervals of 10 minutes at 20 km/h. A man coming from
opposite direction towards the terminus meets the buses at intervals of 8 minutes. What is his
speed?

A) 6 km/h B) 5 km/h

C) 3.75 km/h D) 4 km/h



s 10 fAde & el W 20 fredi/eer & a7 ¥ s9 <ffa9 § Awadr &1 [Qada fer &
e fr 3R 3 arer v eHr 8 AT ¥ REl W T8 Y UR FGr g1 IWH O AT
fifaw]

A) 6 fRral/Eer B) 5 ferai/ger
C) 3.75 TRafl/eer D) 4 TRe/Eer
Answer Key : B Your Response : C (W

Question No. 72

A shopkeeper gives a discount of 10% once in 4 months. if a man purchases an article in this
scheme for Rs.25515 in December, then what was the initial price in January?

A) Rs.36000 B) Rs.40000

C) Rs.35000 D) Rs.45000

TF gHEGR & 4 #AA 7 T aR 10% 1 T &l ¢l I F1$ AT 30 Al & dod
a&] B A F %.25515 F @ledr §, < Faall & 3W aqg F YRHF Jed T A1?

A) %.36000 B) %.40000
C) %.35000 D) %.45000
Answer Key : C Your Response : A (Wrong)

Question No. 73

The LCM of two numbers which are in the ratio 2 : 3 is 48. What is their sum?
A) 64 B) 32

C) 40 D) 28

2 : 3 & U drell A &I FT 7.9 (LCM) 48 &1 37T AT 7T AT

A) 64 B) 32
C) 40 D) 28
Answer Key : C Your Response : C (Correct)

Question No. 74




Find the group of wrong alphabets in the following series.

M,C,P,F,T,G,Y
A) P B) Y

C) C D) G

fArfaf@d Aol 3 3R & ToraT THg AT F

MCPFTGY

A) P B) Y
C) C D) G
Answer Key : D Your Response: D (Correct)

Question No. 75

A number of two-digits has 3 for its unit's digit, and the sum of the digits is 1/7 of the number
itself. Find the number.

A) 73 B) 63

C) 53 D) 43

TS al-3i I T & S & ¥ W 3 § AR g0F 3t o1 991 39 d&Jr &1 1/7 g1 §&qr
AT P

A) 73 B) 63
C) 53 D) 43
Answer Key : B Your Response : B (Correct)

Question No. 76

To obtain an enlarged real inverted image beyond 2F, after refraction by convex lens, where

should the object be placed?



A) Atinfinity B) Between F4 and 2F

C) Between focus F4 and optic centre O D) At2F4

3ol o EaRT 3Yace & &1 2F, ¥ W UF Iaftd arafas 3der yfafda grog s & faw,
a&] el @M S =ifge?

A) 3dd W B) Fq 3R 2F; & &
C) wihd Fq 3R 3ifteced X O & &iT D) 2Fy W
Answer Key : B Your Response: D

Question No. 77

A train 120 m long crosses a platform of length 100 m in 10 seconds. What is its speed?
A) 72 km/h B) 79.2 km/h

C) 100 km/h D) 80 km/h

120 #FHex ol T IS 10 Vhs & 100 HeT o TH Tolchid & IR FdT g1 SHDr °rel AT
o]

A) 72 TRa/Eer B) 79.2 Tral/ger
C) 100 frel/ger D) 80 ferdl/eer
Answer Key : B Your Response : B (Correct)

Question No. 78

If in a certain code, 'bir le nac' means 'green and tasty', 'pic nac hor' means 'tomato is green'
and 'coc bir hor' means 'food is tasty', which of the following means 'tomato is tasty' in that

code?
A) picle coc B) hor bir pic
C) birle hor D) pic hor nac

Ife fARET F© 19T #, 'bir le nac' FT Ade 'green and tasty' &, 'pic nac hor' Fr Hce™
'tomato is green' & 3 'coc bir hor' @ Hde™ 'food is tasty' §, 39 Fewr # fAr=fafead #
¥ AT 'tomato is tasty' T AT BIM?



A) pic le coc B) hor bir pic
C) bir le hor D) pic hor nac

Answer Key : B Your Response : D (Wrong)

Question No. 79

Find the missing number in the following series.

4,7,12,(...), 28, 39

A) 19 B) 14
C) 24 D) 16
farafaf@a Aol & gea @ aa ffawl

4, 7, 12, (), 28, 39

A) 19 B) 14
C) 24 D) 16
Answer Key : A Your Response : A (Correct)

Question No. 80

Which of the following kings was the father of Sanghamitra and Mahendravarman?
A) Krishnadeva Raya B) Bimbisara

C) Kanishka D) Ashoka

fA=faf@a 3 ¥ Fla @ v, wuf@Er iR Aggests & Rar 22

A) FSUTCER B) ffFsarR
C) Hfassh D) 372
Answer Key : D Your Response : Not Answered

Question No. 81

If Rs.64 amounts to Rs.83.20 in 2 years, what will Rs.86 amount to in 4 years at the same rate
per cent Simple Interest per annum?



A) Rs.124.70 B) Rs.127.40

C) Rs.114.8 D) Rs.137.60

gfe 5. 64 fr AR 2 asf 37 Tg . 83.20 & I &, aF JUROT AT Fr 38 9faed T W .
86 fr TR 4 ast 7 fhaer & smwen?

A) %.124.70 B) %.127.40
C) %1148 D) %.137.60
Answer Key : D Your Response : D (Correct)

Question No. 82

Complete the series.

ZZ, TX, NU, HP, (...)

A) AJ B) PR
C) BI D) MC
Fofr & qut Y1

ZZ, TX, NU, HP, (.)

A) AJ B) PR
C) BI D) MC
Answer Key : C Your Response : C (Correct)

Question No. 83

Find the missing number in the following series.

2,7, 16, (...), 46, 67, 92
A) 38 B) 36

C) 32 D) 29

fAefaf@a Aol # goa e A fifEwl



2, 7, 16, (..), 46, 67, 92

Answer Key : D

What comes in the place of *?

Your Response : D (Correct)

Question No. 84

ll+1l-1l:="'+1l
4 6 8 12
A)
5/12
0
5/24

* ¥ TUTT 9T FIT @O

11+11-11:"'+1l
= 6 8 12

A)

5/12

B)

712



0 D)

Answer Key : C Your Response : C (Correct)

Question No. 85

Who among the following has become the first ever captain to win 100 matches in IPL history?
A) Rohit Sharma B) David Warner

C) Virat Kohli D) M.S. Dhoni

f=faf@a & ¥ Faar 'Isdive & Qg & 100 #7 Sidd del 98l &odle gl & IiRkg
eiffer fFar?

A) AfgT e B) 3fas am=R
C) favre =igelr D) M. S. disir
Answer Key : D Your Response : Not Answered

Question No. 86

A group of similar organisms which are genetically distinct and reproductively isolated, is called
a/an-

A) Class B) Order

C) Species D) Family

AT Sl FT UH GHE, S WS T F AR vd yoddcns ®9 & @l o § 3@
AT FET AT 87

A) TIT B) &H
C) wemfa D) 9Rar
Answer Key : C Your Response : Not Answered

Question No. 87




If 2720 + 2710 = 3K then find the value of K.
A) 30 B) 27

C) 15 D) 12

gfe 2720 + 2710 = 3K & A K &1 AW 7T ffSw)

A) 30 B) 27
C) 15 D) 12
Answer Key : A Your Response:A (Correct)

Question No. 88

42 horses consume 270 kg of corn in 27 days. If there are 21 horses only, then how many days
will 300 kg of corn last?

A) 60 B) 72

C) 45 D) 48

42 =3, 27 f&T 7 270 e 7oy WA 1 G Hae 21 W §, o 300 BFm #Feg fhaer Rat
dF gaefi?

A) 60 B) 72
C) 45 D) 48
Answer Key : A Your Response : A (Correct)

Question No. 89

With which type of acid is the atmosphere of Venus made up of?
A) Hydrochloric acid B) Sulphuric acid

C) Oxalic acid D) Nitric acid

Y T AGHSH F I § T §7

A) gEgiFeiRe 3Fa B) HeWgRe el
C) 3iFafas 3wa D) asfes 3rFar

Answer Key : B Your Response : B (Correct)



Question No. 90

Find the ODD one out from the given options.

A) 80 B) 49
C) 24 D) 15
R T et 3 ¥ 3T T
A) 80 B) 49
C) 24 D) 15
Answer Key : B Your Response : B (Correct)

Question No. 91

If the ratio of ages of A and B is 5 : 6 and sum of their ages is 55, what is the age of A?
A) 15 B) 25

C) 30 D) 18

IfE A AR B #ir Y F7 T 5: 6 § AR SeTehr Y Fr A 55 §, o A B I3 AT RS

A) 15 B) 25
C) 30 D) 18
Answer Key : B Your Response : B (Correct)

Question No. 92

Which of these blood components carries oxygen?
A) RBC B) Platelet

C) Plasma D) WBC

T T 518 W Pl TT "eh sl HT IRagT HIT 872
A) RBC B) Telcel

C) TelTsHT D) WBC



Answer Key : A Your Response : A (Correct)

Question No. 93

Malachite is an ore of-

A) Manganese B) Magnesium
C) Mercury D) Copper
Aoreige, _ F TE 3T g
A) Haels B) #HeAIfIgH
C) 9RT D) drer
Answer Key : D Your Response : B (Wr

Question No. 94

Which of the following is TRUE about Mass and Weight?
A) Mass is a vector and weight is.a scalar B) Both are vector quantities

C) Both are scalar quantities D) Mass is a scalar and weight is a vector

FoUA 3R AR & 9 #F Pfaf@a F ¥ = a8 22
A) ESTATH THh A TR § 3R &1 vah 3ifcer B) =t afger i g

SR
C) et 3rfeer afar g D) geudAe Ush 3feer Ufyr § 3R sk v afewr
SRS
Answer Key : D Your Response : D (Correct)

Question No. 95

National Income in India is measured in terms of-
A) Net National Product at Factor Cost B) Gross National Product

C) Net National Product at Market Price D) Gross Domestic Product

HRT & T 31T &t Fad qat F AT Sar §?

A) T AR W LG TSET 3cdTe B) Hehol ISCI 3cUTG



C) ¥IeIR Hed W g I 3cUTe D) Hehol EXel 3cUIG

Answer Key : A Your Response : B (Wrong)

Question No. 96

A person borrows Rs.5000 for 2 years at 4% per annum Simple Interest. He immediately lends
it to another person at 6.25% per annum for 2 years. Find his gain in the transaction per year.

A) Rs.150 B) Rs.167.50

C) Rs.112.50 D) Rs.125

U AP 4% TTUROT SATST FI a7 F 2 9 & fAT ¥ 5000 39T ol &1 98 9 2 a¥ & Qv
6.25% i aIffer gT W 3T IfFadl & & &ar g1 Ui ¥ dsiead 7 3HHT o137 AT HifSw]

A) %.150 B) %.167.50
C) 2.112.50 D) %.125
Answer Key : C Your Response: C (Correct)

Question No. 97

When the speed of any object exceeds the speed of sound, it is said to be travelling at which

speed?
A) Subsonic B) Supersonic
C) Hyposonic D) Infrasonic

o9 R avg T e, eafe Ay G & #fOF & Sl @, ar SER Arer Fr AT FT AT 87

NREERIGED B) gwdAlfais
C) grsuraifas D) swraifas
Answer Key : B Your Response : B (Correct)

Question No. 98

Which of the following dances is NOT a classical dance of India?
A) Kuchipudi B) Manipuri

C) Bugaku D) Odissi



@ & & Sl T Jo7 AR FT AT T 76 82

A) Ffeagr B) #Hforgd
C) ek D) 3nfsdr
Answer Key : C Your Response : C (Correct)

Question No. 99

On a certain sum of money, the Compound Interest for 2 years is Rs.309 and the Simple
Interest is Rs.300. Find the rate of interest per annum.

A) 7% B) 9%

C) 6% D) 8%

frelr fRea ool ®, 2 af # wRafe sarer $.309 3R WUROT sAreT %.300 Bir 1 aifds
et &T A H

A) 7% B) 9%
C) 6% D) 8%
Answer Key : C Your Response : C (Correct)

Question No. 100

Esters have smell.

A) Rotten B) Pungent
C) Chemical D) Fruity
e # arer el &

A) s SiEr B) et
C) Tagfa® D) ®a ST

Answer Key : D Your Response : D (Correct)
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